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2. a) A,B,C sunt coliniare
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b) Mulţimea P are două elemente 
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 asimptotă verticală la stânga către 
[image: image26.wmf]-¥

 şi la dreapta către
[image: image27.wmf]+¥

…………………………………………………………….(3p)
_1326574713.unknown

_1326654963.unknown

_1327580370.unknown

_1327581530.unknown

_1327581807.unknown

_1327580450.unknown

_1326656458.unknown

_1326656526.unknown

_1326656954.unknown

_1326656133.unknown

_1326575197.unknown

_1326575357.unknown

_1326654859.unknown

_1326574791.unknown

_1325676215.unknown

_1325677068.unknown

_1325697087.unknown

_1325697455.unknown

_1326574294.unknown

_1325697306.unknown

_1325683606.unknown

_1325676533.unknown

_1325675416.unknown

_1325675488.unknown

_1325612224.unknown

_1325613312.unknown

_1325612165.unknown

